

## OPD Prescription

UHID No. : 4128

OPD No. : 2713

Patient Name : Ranju Kumari

Date : 19/02/2026

Address : Muraul, Muzaffarpur.

Age / Sex : 06 days/ F

B.P. : Pulse :

Temp : **Weight :**

Quinn  
Dobrit  
by  
men

Ch. a. Challos of ~~Geoprospectus~~ ~~Geoprospectus~~  
comes down at Cenozoic  
Challos, Porto ~~West~~ ~~West~~ ~~West~~ ~~West~~ ~~West~~  
or ~~Geoprospectus~~, ~~Geoprospectus~~ ~~Geoprospectus~~ ~~Geoprospectus~~ ~~Geoprospectus~~  
Dreyer

Ans

Mr. Muniruzzaman IX BD  
Mr. Rashed - 2010  
Mr. Faruq - 2010  
Sop. Curni - 2012  
Sop. Md. Golam - 2012

501X 2 /  
19/02/26

Attn : Mission Heal

**Fund Support Requisition for Economically Weaker Section**

Reference No.

UHID :- 4128

OPD NO. 2713

DATE:- 19/02/2026

**PROFORMA INVOICE/FUND REQUISITION REPORT**

Satyam Super Speciality Hospital (A unit of Satyam medical care Pvt. Ltd.)

Maripur, Muzaffarpur, - 842001, Bihar

Patient Name:	Ranju Kumari
Sex:	Female
Mother's Name:	Rimjhim Kumari
Address:	Muraul, Muzaffarpur.
Diagnosis:	Childhood intestinal disorder. Celiac disease, the kid cannot absorb gluten. Resulting in severe malnutrition, weak bones or osteoporosis. It can quickly cause of intestinal and liver damage.
Date of Admission:	19 <sup>th</sup> /Feb/2026

**Overall Analysis :** - Ranju Kumari, was brought to the hospital in Morning hours of 19<sup>th</sup> Feb. 2026 in a critical condition by her parents. The condition of the kid is critical. Patient has suffering from Childhood intestinal disorder. Celiac disease, the kid cannot absorb gluten. Resulting in severe malnutrition, weak bones or osteoporosis. It can quickly cause of intestinal and liver damage. This condition limits the body's ability to respond to stress and poses a serious risk to life. The kid has been admitted in NICU with 24 x 7 observation of concerned doctors and necessary treatment has been initiated. There conditions can be severe and require urgent medical attention to address the deficiencies and other complications, regular assessment and check up is required. The patient comes from a financially weaker section, Kid's father is a bus driver and mother a house wife family income approx. 16,000, who can't take care of the medical expense, so they need financial help of approx Rs. 1,28,800/- For almost 15 days of treatment. Please provide financial support for the same.

**Estimated Fund required during Hospital Stay and Overall Treatment.**

S.No.	Element	Unit	Rate (INR)	Price (INR)
1	NICU	15	3000.00	45000.00
2	Nursing	15	800.00	12000.00
3	Visit	15	1000.00	15000.00
4	Procedure	1	5000.00	5000.00
5	Medicine	15	840.00	12600.00
6	RBS	15	100.00	1500.00
7	Oxygen	317	100.00	31700.00
8	Warmer	12	500.00	6000.00
				1,28,800.00

*Attn : Mission Heal*  
19/02/2026

2700 रुपये

31:22 श्रीमात् द्वृष्टि अमित की भी 31:23 एवं  
द्वितीय अधिकार की भूमि उल्लं भी 31:24 की मद्दत करें  
का दृष्टि उल्लं करें इसके लिए श्रीमात् का उल्लं  
31:25 अधिकारी उल्लं

*Amelia* 19/02/2026

311451 A2016A  
RHSAT 97127

